Transmittance Fitting Graphs

January 26, 2021

1 Visibility 20.0

Rendered Fitted Difference Rendered Fitted Difference
) 320-360: ¢; = 0.000128, ¢2 = 0.000317 ) 360-400: ¢; = 0.000252, £2 = 0.000480
Rendered Fitted Difference Rendered Fitted Difference

(c) 400-440: ¢, = 0.000346, ¢> = 0.000689 ) 440-480: ¢, = 0.000432, ¢, = 0.000828
Rendered Fitted Difference Rendered Fitted Difference
) 480-520: ¢; = 0.000466, ¢2 = 0.000869 ) 520-560: ¢1 = 0.000420, ¢2 = 0.000783
Rendered Fitted Difference Rendered Fitted Difference

) 560-600: ¢; = 0.000389, ¢> = 0.000719 ) 600-640: ¢; = 0.000470, ¢2 = 0.000861
Rendered Fitted Difference Rendered Fitted Difference
) 640-680: ¢1 = 0.000538, ¢2 = 0.000977 ) 680-720: ¢; = 0.000520, ¢2 = 0.000917
Rendered Fitted Difference Rendered Fitted Difference

"M- a F

) 720-760: ¢, = 0.000570, ¢2 = 0.001002 ) RGB
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Figure 2: Vis: 20.0 Altitude 1.875000
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Figure 3: Vis: 20.0 Altitude 15.000000



Rendered

) 320-360:

Rendered

(c) 400-440:

Rendered

(e) 480-520:

Rendered

(g) 560-600:

Rendered

) 640-680:

Rendered

(k) 720-760:

Fitted Difference

¢1 =0.000134, ¢> = 0.000327

Fitted Difference

£1 = 0.000349, ¢2 = 0.000693

Fitted Difference

£1 = 0.000482, £2 = 0.000889

Fitted Difference

41 =0.000395, ¢2 = 0.000724

Fitted Difference

£1 = 0.000552, 2 = 0.000995

Fitted Difference

d/dE

41 = 0.000583, ¢2 = 0.001015

Rendered Fitted Difference

) 360-400: ¢, = 0.000272, £ = 0.000515

Rendered Fitted Difference

) 440-480: ¢; = 0.000440, ¢2 = 0.000838

Rendered Fitted Difference

) 520-560: £; = 0.000431, ¢, = 0.000798

Rendered Fitted Difference

) 600-640: ¢, = 0.000473, ¢, = 0.000864

Rendered Fitted Difference

) 680-720: £; = 0.000535, ¢ = 0.000934

Rendered Fitted Difference
) RGB

Figure 4: Vis: 20.0 Altitude 50.625000
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Figure 5: Vis: 20.0 Altitude 120.000000
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Figure 6: Vis: 20.0 Altitude 234.375000
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Figure 7: Vis: 20.0 Altitude 405.000000
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Figure 8: Vis: 20.0 Altitude 643.125000
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Figure 9: Vis: 20.0 Altitude 960.000000
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Figure 10: Vis: 20.0 Altitude 1366.875000
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Figure 11: Vis: 20.0 Altitude 1875.000000
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Figure 12: Vis: 20.0 Altitude 2495.625000
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Figure 13: Vis: 20.0 Altitude 3240.000000
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Figure 14: Vis: 20.0 Altitude 4119.375000
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Figure 15: Vis: 20.0 Altitude 5145.000000
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Figure 16: Vis: 20.0 Altitude 6328.125000
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Figure 17: Vis: 20.0 Altitude 7680.000000
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Figure 18: Vis: 20.0 Altitude 9211.875000
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Figure 19: Vis: 20.0 Altitude 10935.000000
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Figure 20: Vis: 20.0 Altitude 12860.625000
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Figure 21: Vis: 20.0 Altitude 15000.000000
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Figure 58: Vis: 40.0 Altitude 4119.375000
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Figure 69: Vis: 59.4 Altitude 15.000000
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Figure 70: Vis: 59.4 Altitude 50.625000
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Figure 72: Vis: 59.4 Altitude 234.375000
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Figure 73: Vis: 59.4 Altitude 405.000000
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Figure 74: Vis: 59.4 Altitude 643.125000
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Figure 75: Vis: 59.4 Altitude 960.000000
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Figure 78: Vis: 59.4 Altitude 2495.625000
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Rendered

) 320-360:

Rendered

(c) 400-440:

Rendered

(e) 480-520:

Rendered

(g) 560-600:

Rendered

(i) 640-680:

Rendered

(k) 720-760:

Fitted Difference Rendered Fitted Difference

f1 = 0.000162, £2 = 0.000290 (b) 360-400: ¢ = 0.000442, ¢; = 0.000737
Fitted Difference Rendered Fitted Difference
¢1 = 0.000718, ¢2 = 0.001178 (d) 440-480: ¢1 = 0.000672, ¢2 = 0.001088
Fitted Difference Rendered Fitted Difference
¢1 = 0.000608, ¢2 = 0.000969 (f) 520-560: ¢1 = 0.000833, ¢> = 0.001274
Fitted Difference Rendered Fitted Difference
{1 = 0.000627, ¢2 = 0.000965 (h) 600-640: ¢, = 0.000847, ¢> = 0.001243
Fitted Difference Rendered Fitted Difference
£, =0.001021, ¢ = 0.001492 ) 680-720: ¢; = 0.000812, ¢> = 0.001236
Fitted Difference Rendered Fitted Difference

J)

41 = 0.000866, £2 = 0.001298

14-

Figure 80: Vis: 59.4 Altitude 4119.375000
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Figure 82: Vis: 59.4 Altitude 6328.125000
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Figure 84: Vis: 59.4 Altitude 9211.875000
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Figure 109: Vis: 90.0 Altitude 15000.000000
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Figure 110: Vis: 90.0 Altitude 17364.375000
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Figure 111: Vis: 131.8 Altitude 0.000000
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Figure 112: Vis: 131.8 Altitude 1.875000
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Figure 113: Vis: 131.8 Altitude 15.000000
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Figure 114: Vis: 131.8 Altitude 50.625000
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Figure 115: Vis: 131.8 Altitude 120.000000
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Figure 116: Vis: 131.8 Altitude 234.375000
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Figure 117: Vis: 131.8 Altitude 405.000000
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Figure 118: Vis: 131.8 Altitude 643.125000
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Figure 119: Vis: 131.8 Altitude 960.000000
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Figure 122: Vis: 131.8 Altitude 2495.625000
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Figure 123: Vis: 131.8 Altitude 3240.000000
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Figure 124: Vis: 131.8 Altitude 4119.375000
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Figure 126: Vis: 131.8 Altitude 6328.125000
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Figure 128: Vis: 131.8 Altitude 9211.875000
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Figure 129: Vis: 131.8 Altitude 10935.000000
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Figure 130: Vis: 131.8 Altitude 12860.625000
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Figure 131: Vis: 131.8 Altitude 15000.000000
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Figure 132: Vis: 131.8 Altitude 17364.375000



